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11/05/24 vslfigrt60577_40.ppp_defaut−1644d−15_X−stp

1
Following steps removed:

60579.43229 : Step 1 −800 ns

2

60579.44271 : Step 2 −494800 ns

3

60579.45313 : Step 3 837000 ns

4

60579.45660 : Step 4 −163000 ns

5

60579.46007 : Step 5 −163000 ns

6

60579.46354 : Step 6 −163000 ns

7

60579.46701 : Step 7 −163000 ns

8

60579.47049 : Step 8 −163000 ns

9

60579.47396 : Step 9 837000 ns

10

60579.47743 : Step 10 −163000 ns
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300 s: Mdev= 0.13285E−11 Tdev= 230 ps
600 s: Mdev= 0.12974E−11 Tdev= 450 ps
1201 s: Mdev= 0.14632E−11 Tdev= 1014 ps
2402 s: Mdev= 0.18691E−11 Tdev= 2592 ps
4804 s: Mdev= 0.25245E−11 Tdev= 7002 ps
9608 s: Mdev= 0.35719E−11 Tdev= 19813 ps
19215 s: Mdev= 0.51422E−11 Tdev= 57046 ps
38430 s: Mdev= 0.69911E−11 Tdev= 155120 ps
76860 s: Mdev= 0.70386E−11 Tdev= 312340 ps
153720 s: Mdev= 0.40431E−11 Tdev= 358830 ps
307440 s: Mdev= 0.18157E−11 Tdev= 322280 ps
614880 s: Mdev= 0.56545E−12 Tdev= 200740 ps
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